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1. Two Strands of DNA are hold together by-
ST & 4 ag oMU § s gRI 9 8 &2
a) Covalent bonds / WW CRl

b) Hydrogen bonds / EIQS:A ol &%
c) Vander Waals force / A0Sl a1

d) Electro static force / @Rﬁ?ﬂﬂ qgd
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Explanations: In DNA, Adenine pairs with Thymine by two Hydrogen - Bonds.

2. What will be the value of gravitational acceleration (g?) if a body is taken to a depth h inside the
Earth?
I U a%] &I Gl & 3feR h TERTS A o ST Sl § < R @R (g) BT A
ol EEIJII ?

a) g=g(1-Rh)

b) g-= g (1-hR)

c) g=g(1-Rh)

d) g=g(1-hR)

3. The disease Bery - Bery is caused due to —

T - & A7 Pt FH F HRU BT 7?
a) Vitamin-B, / ﬁET&FT-Bl
b) Vitamin-B, / ﬁET&FT—Bz
c) Vitamin-Bg/ ﬁ?lﬁl:[—Be

d) Vitamin-K / faeTfem-k
Explanations: Beriberiis a disease caused by a vitamin B-1 deficiency, also known as thiamine

deficiency. There are two types of the disease: wet beriberi and dry beriberi. Wet beriberi affects the
heart and circulatory system.
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4. 1 Atomic mass unit (a.m.u.) is equal to —
1 Teife A1 e sRIeR gl o-

a) 1.6 x 10" kg / fopom

b) 2.4 x 107 kg / T U

c)3.8x 102 kg / Tbum

d) 2.1 x 10 -3 kg / fba

Explanations: Atomic mass unit is used to measure the mass of small bodies.

5. In which of the following groups of pIants conducting tissues are found?
g & fmfafed gl # 9 g daga $de e S 82
a) Pteridophyta /
b) Bryophyta /
c) Algae /
d) Fungi / hddh

Explanations: Vascular tissue is a complex conducting tissue, formed of more than one cell type,
found in vascular plants. The primary components of vascular tissue are the xylem and phloem.
These two tissues transport fluid and nutrients internally.

6.The use of thermostat is:

YRee H1 IUAN Bl g
a) To measure temperature /ﬁ]ﬂﬂﬁﬁmqeféﬁﬁfm
b) Toincrease temperature mmamﬁ%ﬁﬂ
c) To keep constant temperature /?‘ITWH@@RWW%%’Q
d) To convert temperature into electricity /dTUHIH Call iaqu e ddﬂ:l éﬂ%m

Explanations: A thermostat is a component which senses the temperature of a system so that the
system's temperature is maintained near a desired set point.

7.A semiconductor has:

TH s HEIdTe:
a) A negative temperature coefficient /BUITHD dIUHI EUTW
b) A positive temperature coefficient /Y-THD dTUHIT I[UMh

c) Zero / U
d) None of these /s:lﬁﬁaﬁg:r@

Explanations: A negative coefficient for a material means that its resistance decreases with an
increase in temperature. Semiconductor materials (carbon, silicon, and germanium) typically have
negative temperature coefficients of resistance.

8.Which of the following pair doesn’t have the same dimension?
frofafea & ¥ fow gm o Ime = 82
a) Decibel-unit of sound /@ﬁﬁﬁ-aﬁaﬂw
b) Horse power — unit of power /3{%[-‘21% - Q]W
c) Nautical mile-unit of distance Fﬁﬁwjﬂﬂ - W
d) Celsius-unit of heat/@'ﬁl’qﬂ-w
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Explanations: The basic unit of temperature in the International System of Units (SI) is the Kelvin. It
has the symbol K. We can convert degrees Celsius to kelvins by adding 273.15.

9. What is called the study of fungus?
Hah! BT LI Bl g2
a) Mycology AIDIATSI
b) Phycology/ﬂ'léﬁ?’lﬁﬂ
c) Pomology [ATATTSH

d) Anthology J3RATGTST

Explanations: Study of fungus / Hab| BT T - Mycology
Study of Algae /ATl BT ST - Phycology

Study of Flowers / U‘Q_cﬁ DI HHYT - Anthology
Study of Fruits/ Wall BT ST - Pomology

10.The rate of photosynthesis is maximum in—

a) Green light / Bﬁ ﬁTZFﬂ
b) Blue light/ =il T
c) Red light / T et

d) White light/ Tthg A<=

11.The scientific name of Banyan is?

TITE HT dFHS A 82
a) Ficus benghalensism SR

b) Azadirachta indica/3{TSTGRETET e
c) Psidium guajava/f@l’%ﬂﬂ NS INIC
d) Mangifera indica/ =181 Ve SfSPT

12. 1 Baris equal to —
1 §R frgd SRR BT 8-
a) 10%pa
b) 10? pa
c) 10°pa
d) 10%pa
Explanations: 1 Bar is equal to 10° Pascal. Bar is the metric unit of pressure while Pascal is the SI unit
of pressure.

q%u“r e ... & HIYT HRT 82
a) Atmospheric pressure/ aTﬂﬂ?;T'ﬂ'q qld

b) Time/ HHI
c) Volume of gases/ T BT A
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d) Vapour pressure/ A% GqId

Explanations: A eudiometer is a laboratory device that measures the change in volume of a gas
mixture following a physical or chemical change.

14. Which disease is caused by Nickel?
fpeT 47q A I-T1 AT Bl 22
a) Itai Itai /s?lé—s?lé
b) Dermatitis/@?ﬂ?l’{ﬁ?
c) Learning disability /?I'EFT%WW
d) Asthma / GHI

15. The two metals which are extracted by means of electrolytic reduction of their molten salts are:
& YIge o 3o fUUd gU AUl Y oIy SUedE & HieH ¥ Merel o g:
(a) Magnesium and manganese /ﬁmﬂ 3R T
(b) Iron and aluminium / F‘hBT 3R Q?Imﬁtm
(c) Zinc and magnesium / S/ R Aliftw
(d) Magnesium and aluminium / R SR Q?Iﬁﬂﬁ'qﬂ

16. The book ‘Genera Plantarum’ was written by-

[T WHRT & forde foaq fora-
a) Linnaeus / NG
b) Bentham and Hooker / T 3R gh
c) Engler and Prantle / TR 3R Ued
d) Hutchinson / Bﬁﬂ'm_"f

17. Who among the following analysed DNA for the first time?
SN FT 3fdaie fbe Ugdl R foar

a) Arthur Kornberg / 3R BTt

b) Hargobind Khorana / mﬁ?{ RENEI

c) M. W. Nirenberg / UH. S&] R
d) Watson and Crick / dIcd+ Qa foheh

18.The pollination of maize takes place by-
TgHT H WA fhgds gRT il /2
a) Self-pollination / TARTUT
b) Pollination by insects / PIc GRT GRAT0T
c) Pollination by air / dIg URTTUI
d) Pollination by rain / auf GIRT URTTOT

19. The main cause of acid rain (acid precipitation) is
3 aNf (3R AIEAYUT) BT T HRUT g

(a) SO,

(b) CO,

(c) CH,4

(d) All of these/JTRIGd Tt
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20. Melanin protects from ........ ?
AR ... T ST 8
a) UV Rays
b) Visible Rays/SRU fovor
c) Infrared/3fddd oo
d) X-Rays

21. Pain, coldness and hotness of human body is detecting by which part of brain?
AfTss & 9 U § &<, 38 IR Tige &1 Udl 9d 3T 82

a) Medulla oblongata / f@?‘ﬂ 3{I§mer

b) Thalamus/

c) Hypothalamus/ Bﬁthm

d) Cerebellum/ ARSTaH

3 "“ \-'-L—Spinal cord

22.Plank’s constant has the dimensions of

a) Linear momentum /AJTTGAT
b) Angular momentum /H%Uﬂwa"[

c) Force /dd
d) Energy/G»‘_\rlf

Explanations: The dimension of Planck's constant is the same as that of angular momentum. Sl unit
of Planck's constant is joule-seconds (j-s).

23.Hydraulic brakes work on which principle?

BRI 9 fhy RIgid R FTH HAE 2

a) Pascal’s principle /CIWW%@H

b) Archimedes’ principle /\HTﬁ?ﬁI?ﬁTﬂ Eal ﬁl&"ﬂ

c) Bernouilli’s principle mﬁ%—ﬂmﬁm

d) Newton'’s principle / << ®T IFAR]
Explanations: Hydraulic brakes work on the principle of Pascal's law. According to this law whenever
pressure is applied on a fluid it travels uniformly in all the directions.
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24. When a sound wave goes from one medium to another, the quantity that remains unchanged is

9 B8 @ I e Ay ¥ R A1y | Skt g, @ & suRafdd Jgdre
a) Frequency/ &an%[
b) Amplitude/ 3TIH
c) Speed/aT[
d) All of the above/mﬂlﬁ

Explanations: Sound is propagated in the form of longitudinal waves. When a particle moves from
one medium to other its amplitude increases on decreases. The velocity depends on the nature of
medium, so velocity changes. Since velocity changes, wavelength also changes. But the frequency,
which is the number of cycles per second remains same.

25. The first stable product of photosynthesis is
THTR XAV BT UYH dd g
a) Starch / T
b) Sucrose / J
c) Phosphoglyceric acid / HIHIRG 3T
d) Glucose /

Explanation: Carbohydrates and sugar sucrose are the major organic product of photosynthesis. The
first stable intermediate product of photosynthesis is Phosphoglyceric acid.
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